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Instructions_for Candidates. 1

1. Write your Roll No. on the top irﬁmediately on receipt
of this question paper. | '

9. There are eight questions in the question pap'e'r.
Answer any five questions.

3. All questions carry equal (15) marks,

4, Answers may be written either in English br Hindi;

but the same medium should be used throughout the
pqper.il ' |

P.T.O.
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‘1. () Assume that money dgm‘and‘ takes the fo‘IIOW-ing

" _form:
" _ ‘
T =Y[1-(r+e)]
» o Qi
where Y =100 and r=0.1 .

(a) Assume that, i, the short run, € i constant
and equal to 25%. Calculate the amount-of

seigniorage if the' rate of hloﬂey growth,
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cquals :

(i) 25%
(i) 50%

(i) 75%

(b) In the medium run, e = % . Compute the -

amount of seigniorage associated with the
'three, ratcs of momney growth in part (a).
Explain why the answers different from

those in (a).

(i) Disciss expenditure approach to measure GDP.
Why are eXports included and impbrts deducted

in this approach,

() w7 & 7 R ) win Pl w0 AR

P.T.O.
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2. (i) Suppose we have an economy described by the

following functions :

C=50+08YD

1 =170
. | ﬁ=‘1‘00-f
‘t="0.20

| (a) Calculate the e_qﬁilibrium level of income.
(b) Calculate the multiplier in thi-s;m‘odel.‘
" (c) Calculate budget sufp_lus.

(d) Suppose that t increases to 0.25. What is

the new equilibrium income? The new
e |

multiplier?

(e) Calculate the change in the budget surplus.
Would you ex'pect the change in the surplus
to be more or less if ¢=0.9 rather than
0.8? |

P.T.O..
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(f) Can you explain why the multiplier is |

when t=1?

(i) Discuss the concept of liquidity trap. Does

monetary policy works in this case? Explain using

diagrams. .
() SR B TR T PR @A a A

C=50+08YD

1 =10

G = 200

TR = 100
b L0207
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3. (i) The following eguations describe an economy.
-C‘ =40 + 0,75 YD
I = 140 - 10i
G =100

t = 0.20

P.T.O.



(@) What is the equation that describes the g

curve?

(b) What is the equation that describes the LM

* curve? &

(¢) What aré the equilibrium levels of ingome

and the interpst raté? o

(d) What happens to the ;e’quilibrium«income
and interest rate when the government

- increases its expenditure by 65?7

| (i) What is .crowding out? D'iscuss with a suitable

| diagram. |

(i)ﬁw%mum'w.mmaﬁm%
g1 |



591

9
C =40+ 075 YD

I =140 - 10i

G .= 100
t = 0.20

L = 0.2Y - 5i

M
= =85
P. .
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4.

| (1) How does. the offi

(i)

10

cial settlement balance ensure
that the “Fundamental Balance of Paymeng
Identity” holds?

You are given the following information aboyt
an economy :-

Gross private domestic _investm'ent=40

- Government.purchases of goods-and services=30 .

)

Grpssinatiohal »produCt '(.G_NP).='200 d

Current account balance=-20 -

Taxes%60

- Government tféhsfer'liayinehts: to the domestic

private ,séctor=25 -
Interest payments from the. government to the .

A

domestic private sector=15

- Factor income received. from rest of world=7

.FaCtOI‘ payments made to rest of w01'1d=9

Find the following, assuming that government .

investment is zero:
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| (a) Congummion

(®) Net Bxports

(¢) GDp .

(d) Net factor payﬁmnts from abroad
- (e) Private ng{11g ‘

() Government Saving

(g) Natioi;lal Slavihg e :

(i) mﬁmwﬁﬁﬁﬁﬂam%ﬁ? “Id
wwﬁmﬁ” %?
Wﬁ@u’@ﬁ%m—m RN

| a@?, am%maha%mﬁaﬂaﬂo
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P.T.O.
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5. Differentiate between real GDP and nominal
| GDP.

(1) Discuss the functions of money. Who controls

the money supply and how?

(iii) The following financial data is given for an
economy :
Currency=2000
Reserves=400

. Deposits=4000 .
Calculate the
(a) Reserve ratio.
(b) Size of the mox»l'ey multiplier

(c) Monetary base

N o AR S S AR A g e AR
(i ; , .
i) gaT o @ (e i R T
11 , '
T AT
e | ' P.T.O.
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(i) e spfermer @ oy Pesfele @y S g arg
¥
1 = 2000
fRerd =400
ST = 4000
S RE
(®) MR oo
() W"ﬂ"‘ﬁﬁ"ﬂ. SR .

() W R

6' 1) P 2 X : ' ‘ gl \ 5
| (i) Explain the concept and causes of hyperinflation.
Suppose policies that the government can use to

control hyperinflation,
(i) What jg high powereq money? To what extent
does high POWere( money affect the money
Supply in an c'conomy? |
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If capital stock of a nation rises, what will be its
effect on out‘puf, Aemploj’rgm'ent‘»'and real wage?

Explain in the context of classical model using
suitable diagrams. : :

Distinguish between budget surplus and full
emplOYlnent. budget surplus. Which one is a

better lmeasure\ of direction/stance of fiscal

policy (i.e. expansionary or contractionary)?

Discuss.
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P.T.O.
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(i) Wi st ol of AR rore m%%ﬁﬂm
ﬁlm@ﬂ?ﬁlﬁﬂﬂ‘ﬁm/mmmm%m .
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. - Write short notes on any two:

() Money Multiplier -

(11)  Quantity TheOry Qf Mionley "

(i) Seigniorage

() o
G) W H W e

(iii) RS
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